TAC 8RR 7 — )L

15 H el IR SUE (A&
FHEEHRE | X7 —IL2E 4,950 5,450
=S| el BT A% SUE A
TITANE—
BT AKX 8 5809 TEAL
TOT 77U L
IR 7KK
T2 =Tk 8,580 9,690
fitfkig (AL B~/h$4)
77 ANy hatE 8,580 9,000
7o ANy k
AR
NLI - XV RARBRRAT—IL
ShSb 7R 9,240 9,700F3
En :\’—“/7\\\}\7‘/71‘\')‘/
F* vy X
2= N—H L (Ra-4-)
A N—HL(EF F- A =yyh) 10,890M 11,4304
Fy XYy h— (¥E£8) 9,240M 9,700/
g4 ¥y XHyh— (ELE) 7,390 7,750
a KKEFESFZ (AD) 15,950 TEHL
KxERFEZ I X (A2~B3) 13,200/ ZBERL
%\ 2 ER kIR 15,950 16,740
Yo F—2 2 =7 (KK) 9,240 10,440
Yo F—Y 1T KK ERE 7,390 8,350
Yo7 =21 27 (1K) 9,240/ 9,700
Yy F—Ya T (KB ERE 7,390/ 7,750
Kk -4 - 7O TEY T (609) 9,240/ 10,440/
*ig - £ 2 (609) 9,240/ 9,700
25y 7L T (90%9) 10,560 11,0804
TOTTT 9,240M ZEETL
HA TOTATVZT 5,500 ZTERL
NS4 728760 9,240 10,440/
FS 4728290 10,560/ 11,930
F oA TRAVYYAR— 14,960 16,900M
FSAT7ZAYRSAT 3,000 3,300/
TR T 4 7KK 10,340 &L
B1EENE O E 2,420M 2,740H




BEEHMOELRZ RV - ZllAEHOETITERINIHEIE. BAEWLWRT —IL
rEHEL L-AETERSIECBEZET,
B) a7k GELE) EF#EE BL1R) 25K 25608 %EF
T a7k GB1[E]) 9,690 [+ 1 [EEMEE 2,740 H=12,430 &Y £9,
W% RZERFIR - UMWD - £y XUy h— - o F—Y1 271k, BEHARETY,
MR =L EHAEDE BRI ER I —ILORESENREERY £,



